THIRD GRADE

ADDITION

WITH SUMS TO 1000

Use left-to-right addition to

solve

233+45=
H25+123=
82+/4=

Show how you could break up t 1

second number to solve this

equation: 65+36

True or folse? Write i

equations that are frue

50+60=1f

\'2+\“\=2“‘
1400+500=900

H+6=4 : |

70+904

Ths race day! Today
a9
|24 fifth grade and 182 si

rs running the race

Use the friendly number Solve the problem.

strategy to solve 124436
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About this Resource

This resource includes 24 task cards to reinforce addition with sums to I000. Students will use these

task cards to practice these facts (up o 1000) in a variety of different ways.

Are you looking for even more support with teaching addition stratfegies in

your classroom? The Addition Station will transform your teaching, allowing

your students fo master addition facts and strategies at their own pace. Find
the Addition Station here:

https://www.teacherspayteachers.com/Product/ The-Addition-Station-First-
Grade-1/81284

ddition strategies and fac

I'd love fo help you get redlly strategic with your math instruction this year!
Join me over on my website, ShelleyGray Teaching.com for ideas, tips, and

resources!

http://shelleyarayteaching.com/




This resource includes...

Twenty-four task cards to practice addition with sums to 000 in a variety of different ways:

illin the blonks Circle the focts that have a sum - ol St the blanks
e __+100-863 o ) Ao o e || 140260
76+__ =85 8 34100 78:30 : : 70+__-160
206 _+‘O:336 45540 4604200 5720 67+2 . ; Y _+60:‘20
Use left-to-right addition fo Selve the problem Fil in the number chart. Solve: s rue or
e e ) [ e 300659 e
{54123- 200+ =088 ’ el
82+/4= e e . +00=530 00+500=900
£ breok up the Use left-to-right addition fo Write the number in the number cha Wirite the number that
2277*“%%:77 ) H024126= 175 more thon : — 9 more than 647
T s 740445 307
219+100=__ 2354106~ —_—
[ JL_ I e J I | 1| i
Recording sheets fo keep students organized.
56 325
/9 79
233+145- v 4224126+ || —+M0=260

425+123< +— T 7H0+45= I 70+__=160
82+14= © 235+126= ) ) +60-120

work

Equation ) 5\_‘74“007_
607+100=___
294100-___ s ¥

_+l00-863 820 MO0 78:30 358+30=___ —+300=659
76+ =85 459+00=____ 200+___ =288
_ +0=336 9 204+20=___ _ +l00=530




Answer keys to make self-checking a breezel

. 7+34<10 8427=4 s6 | 65 | 64| 63 325 | 3% | us
. feon - s | w7 | e | 1 776 | 786 | 876
- : 79 | 88 | 87 | 86 79 ga | 9
= 4 e (] 2 9 .
233445= 378 /By [Tyy 422+126- 5 : 120+190=260
425+123= 548 S Tt 7H0445=_/85 70+90 =160
65 52
82414 235+126= 36 £ +60-10
6 2
S [ e ] |[5474400-64
607+100=/07/ )
fe an an: nte
219+00=319
8 %
£63+100-863 8920 (32400)  78+30 358+30=388 359 +300=659
76+ 9 -85 4594100=559 200+_88 =288
36+10-336 45540 (60200 57:20 204+20=224 430 +100=530

www.ShelleyGray Teaching.com




